1. Question: (FT MATF 0.5" BIST 432 0.5 ST AT TAFT b.0 T, AT Fo?

A) So
B) »
C) Soo
D) o

Answer: B)

Explanation: HIF, T2 F1 QA 0.5 = V/> 932 0.5 = S/So0 TIA(®, F/>-F/vo = J,
(S0F-2F)/do =5 .. F=do

2. Question: 930 ATCTFIT FEF (FaHd v INGIF| 97 s 8 fAG1T FANT 972 73 8 FoF
TG (Fa%He ATHAMO® AF | ATSIFIH FEF SN TN IFT I (Fav F0 @2

A) 3¢ FSREEF
B) v88 I
C) su» TG EF
D) s»¢ It

Answer: B) v88 IRGIF

Explanation: @ Ff4, T @T 7= x V61T 93 7 y HG1F ST 6@, xy = 192 sq.m. .. y =
192/x sq.m. .......... (1) 3T TS, (X-4)(y+4) = Xy "« Xy =4 .......... (2) A y A7 T 2 2 4 I
MR, X-192/x = 4 = x2-4x-192 =0 = (x-16)(x+12) = 0 &, x = 16 AW x #-12 .. x =16 AR y =
192/16 = 12 JWeEa AT = 2(Wei+3r7) = 2(16+12) = 56 m I, Is(F@T AFRA, 4a=56 ..
a =14 .". IMFET FIHT = 142 = 196 sq.m.

3. Question: oA FF AT ST O FEHEH ¢ S¢; T4 fod6a TG F©?

A) Y
B) @
C)¢
D)s

Answer: B) @
Explanation: & FH, fSdft FHEF A TN F-5, F, F+d TIE, (F-5)(F)(F+d) =

Q(P-S+P+P+Y) TT, (D) = CXOF J, F2-5 = 15¢ T, P2 =1L .. P = 8 [T 2 27T fSAfB 2@ o, 8,
€ AR AT TS = (9+8+¢)/ = 8



4. Question: 36 JEF AN 3 (FIHT TATHW SO CIHRGEF 8 S0y IIGRGEH| Jolod Jza
TN-27 (7fs F?

A) by EIFBRGE
B) X} (NBHRIGE
C) x5 (IBRGE
D) 83 (I BAGE

Answer: B) 33 (IBRGIE

Explanation: SIaT SN, J&F A = 21 9FF 932 JEF (Fa%d= 12 I AFF T, /21T =
SOBG/SOR TN, /2 = SOBG/SOIFN r=3y .. q_@‘q’e J 323 TT-99 WS = 3r = 3%3S = 83 (..

5. Question: 3% CIfte Tooa RE-RIa! AM® TENF v “INF (CF AFS ¢ I @& FE vl
T8I (TG ¢ BIFT Soe| D (Ifg wa-w1atd 25 F92?

A) 9o
B) v¢
C) Soo
D) a¢

Answer: B) @
Explanation: S $fH, Ra-RIaT 2T X el @, x(x+25) = 75X100 [~." 75 BIFT = 7500 7] =

X2+25%-7500 = 0 = x+100x-75x-7500 = 0 = x(x+100)-75(x+100) = 0 Either, (x+100)=0 or, x-75
=0 .". x = -100(Which is not acceptable) | .". x=75 .". @ (Tlt® ¢ S =@ =4l A= |

6. Question: AR 240 BIFT 932 FFT FOT F1 F@ (73 (F, TM0 (7 3% Fa91 I

A) 136
B) 14f%
C) 165
D) 15%

Answer: B) 145

Explanation: &f3, (7 $9 fFEfReEn x & afeft Fama wrt= 240/x 5@ @14, § 6 Fa @R (o
FACI WIN= 240/(x+1) BIFT THAS, 240/x-240/(x+1) = 1 = (240x+240-240x)/x(x+1) = 1 = x2+x =
240 = x2+16x-15x-240 = 0 = x(x+16)-15(x+16) = 0 = (x-15)(x+16) = 0 Either, x-15 = 0 or, x+16
=0.. x=15].". x=-16(Which is not acceptable) .". T 156 F fF@E|



7. Question: %6 TFYER (8-

A) 8 ST

B) So ST
C) v N1
D) b S

Answer: C) b SA@9

Explanation: SIFET S, IRQSd 91627 (FISEE T8 = (n-3)x180° [A3T n = TN I2QEH I
AT (5-2)%180° = 540° = 540°/90° = 6 NG [(IEG 90° = 1 TAG]

8. Question: 59 fel ST AR AR FEIRET (T ©TF SHT "SI | IS 0 SN 2T O
SAO (T ©IfFE?

A) So

B) v

C)»

D) 9

Answer: B) v

Explanation: 331 (x© SIE) (¥ S 0 ST 2ET STOPT (33 SIF) | 981E $9 [0y ST (5T b S
E| OFF T S O (@I TE | . 39 - 89 = & + SASMRFIA = 9 I
9. Question: 0.09, 0.\3, 0.8V, AT A6 Fo 2EG?

A) 0.DY

B) v.8%

C)S.to

D) b.93

Answer: A) 0.9%

Explanation: 5716 ST HTAT A3 97 ST S~ 8 HA1bF TII6! WA 7T 0.8 X 8 = 4.53

10. Question: o FT AT 9Ff6 AT ATTSR (FB 7SI FAT 2 (T (G ST I AMCTH R ORI
2T, (216 SRTTH (s F© H5?

A) b



B)a
C) vo
D) v

Answer: C) bo

Explanation: N 3{d, TG ST F Jo| (76 IR 33/ Fo | TIN®, FH+3F/9 = Y0 Jb JT, (9F+3F)/9
=30 d1, @F = Yo .. F = O} .. (A6 MWCTH (7F = (M) = b Fb

11. Question: 30T JTATF A IR T AT SFF 2N MR | AHAF 97 A=

A) YR TOTTIETY FEN

B) Ige ¥ A6 <IeTrst S

C) (51 3 s ST F(F T NI FHAEA
D) SKATEF =S STSIF AT (Wde

Answer: D) SRNIES g6 STSIF NGRS (9E&

Explanation: o ,(F1© 3 ¥ FFTT I I T N AT FE NS ST A F7
T | ST AL TH1SFS ST T NAES 3 TSI ST (7|

12. Question: IAF FE 9F T 70 8 BT S R 7S AOTF 3 F(F NN AN FEF
AT FACH | AT FEF (Ao FOT (A1 IT?

A)>

B) So
C) =}
D) 5

Answer: B) bo

Explanation: 3fe wifste 38+ I fod wrifete = & 938 73 wfed S 730 FF S BT
(B TS | 9T ST 57 QST SveT |

13. Question: ¥ Y- Tl AR ST AFHT (191 F (% T A9 H], &, §-29 Fal 5 97 N7 $-97 Fo51F
52

A) T ITEEIT
B) ¥ a3 A&
C)FAT AT F
D ERERICIES



Answer: C) T A7 dd F

Explanation: ¥ 93 1 ¥ 8 5T 432 @ 5101k ¥ F 47 T ARQ ¥ 97 @ F (@Y TAF 3 JoFe2
AT

14. Question: (5n+2+35%x5n-1)/4x5n="?

A) 4
B) 7
C)5
D) 8

Answer: B) 7

Explanation: (5n+2+35x5n-1)/4x5n = {5n.52+35x5nx(1/5)}/4x5n = 5n(25+7)/4x5n = 32/4 = 8
15. Question: fITIE AABC 97 IRSMT T a5qe1 FfFe @, AD J77 7197 5ide AABD
97 (Fa%d x IACIFI AABC 9T ([Famd $67?

A) x2 FG1E

B) (x3)® IRt

C) (x2)? =51

D) 2x I

Answer: C) (x?)? I5fG1E

Explanation: (AT fages w57 2 fagens efaafSe $1 o1 7™ AD, AABD 3 AACD 4
ST BT BT FE | (ARQ AABD 97 (Fa%et x F5MACI (T7g AACD 97 (Fa%e & x I5MCA JoaK,
AABC 37 (Fa%a= AABD a7 (Fa%e + A ABD 47 (Fa%e = x+x = 2x 56

16. Question: A={1,2,3}, B=2, AUB="?

A) @

B) {1.2,%}

C){2,3,7}

D) {1,2,3}

Answer: A) o

Explanation: (G8IT 9w, A = {1,2,3}B=2.". AUB = {1,2,3} U {2} = {1,2,3}



17. Question: x+y=2, x?+y?=4 X[ x3+y3=?

A) 25

B)9

C) 16

D)8

Answer: B) 9

Explanation: (8T A1, x+y = 2, X2+y? = 4 x?+y? = (x+y)?-2xy 91, 4 = (2)*>-2xy 1, xy = 0 234,
X3H+y? = (x+y)*-3xy(x+y) = (2)>-3%0x2 = 8

18. Question: & 93« WEI IS T FI6T 3 RIAGT FIOH FHFTH (F1e(6 M-
A) S@o°

B) Yo°

C) »0°

D) Sx0°

Answer: B) bo°

Explanation: I¥Fo[ (F197 = 0Yyo° - {(Yo X H - 55 Xx M)/R}° = wYo° - {(Lo X & - bS X 0)R}° =
WwYo°-380° = H0°

19. Question: 79.PNG

A) TX

B) X,T

C)S,T

D) T,B =af6 fee Fa1 3@®

Answer: B) X,T

Explanation: =56 Jifed Fa71 2@®

20. Question: XTI T (AF Sfen [F AW ST =27 FE?

A) TIHATS
B) STI%1E



C) seiframT
D) AREE

Answer: D) FRETEE (Nitrogen)

Explanation: Urea, also called carbamide, the diamide of carbonic acid. Its formula is
H2NCONH2.From the formula we can assume that tree absorb nitrogen from urea as food.
Source: britannica.com

21. Question: TFNF ASFIT & F M2

A) 3EFET 8 AHET
B) 3ETHES 3 (oA
C) fASEH 8 &
D) fISES 8 (NG

Answer: D) fASEF 8 (NG

Explanation: The nucleus is the center of an atom. It is made up of nucleons called (protons
and neutrons) and is surrounded by the electron cloud. Source: britannica.com

22. Question: F@ REMEARET F56 72

A) &7F Sfafie 59 3362
B) (15T Afe@ F4T

C) & TG JTH® R FAT
D) @ SIfH32 FT

Answer: D) SIfHEe 924 347 (D)

Explanation: Hemoglobin is the protein molecule in red blood cells that carries oxygen from the
lungs to the body's tissues and returns carbon dioxide from the tissues back to the lungs.
Source: britannica.com

23. Question: ST NWF ST FIG?

A)s o
B)v o
C)cfe
D)y o



Answer: B) v f&

Explanation: S35 2Twd S G | A8 26 41, anfer, o, febifee, afaw @ger a3z mfay|
TN FIF-T T (TN ST w1 (@16 32

24. Question: XA fo¥sS]@ 2T (1T (AF?

A) SITTTE 2@

B) "I 2(©

C) ferera z®

D) P25t 1S 2o 16 Afoe F4T1 @@

Answer: D) FRREIAT a1 2@

Explanation: 736 16« $a7 2@®

25. Question: 79 ST IS IO FT™ @3-

A) ToFT A=
B) 2w
C) (5t
D) 83F

Answer: D) 83%F
Explanation: - Whales and dolphins are mammals and breathe air into their lungs, just like we

do. - They cannot breathe underwater like fish can as they do not have gills. They breathe
through nostrils, called a blowhole, located right on top of their heads

26. Question: AfefFe W (@ [TOIF JfFe P51 2-

A) TS
B) =™

C) @19 (Fructose)
D) SRS
Answer: A) S[(Z15 (Sucrose)

Explanation: Glycogen is a readily mobilized storage form of glucose.The two major sites of
glycogen storage are the liver and skeletal muscle. S35 JIJ-7<% NT S e @6 2



27. Question: A Fsed T3 AG 8 T2 FTHT AW IE-

A) SeeTST

B) IS
C) @IS
D) (Sf6H

Answer: C) 3@1feG*e (Evolution)

Explanation: f&& 8 S@F ISR TFRHIT ATATGAT 7T SUAGH JT SIS | T TIF-T#
CIE ST oo @16 2

28. Question: &1 AT (AN @2

A) ©Te
B) ST&FE MK
C) 3wy
D) 35 G

Answer: B) sT&q I’

Explanation: 1T (16 Say% ATATE, 5T RETS (ANoel AT ©(F ate & Afaner @ I TR
QAARFTFSIE (AT (N oY% AT ST 432 FFW[ THAT ST AT |

29. Question: 2T 8 TIeF FoJ® I&-

A) IIMG

B) SI¥=

C) SIS

D) NI 3 BHHATT

Answer: D) SEISNITT 8 TSI
Explanation: Calcium plays a role in making the jaw bones healthy and strong to hold the teeth
in place. However, calcium needs phosphorus to maximise its bone strengthening benefits.

Children's teeth need adequate calcium and phosphorus to form a hard structure during growth.
Source: ncbi.nim.nih.gov

30. Question: SETNF FTIT 27



A) SIS o3 e
B) JT13r%

C) b4 8 ST SNFHef

D) SR CT gfiF=T

Answer: C) 5% 8 X AFF(

Explanation: A tsunami is a large ocean wave that is caused by sudden motion on the ocean
floor. This sudden motion could be an earthquake, a powerful volcanic eruption, or an
underwater landslide. Source: iotic.ioc-unesco.org

31. Question: GIREMGN @15 T (I 0B AHF 77 ©f 24-

A) A @TET NAIRS [FOf 98 FEF

B) RNI[eIa ST A (&S 27
C) A (F15T T A& PO A Ffan T
D) fofer STeIT ATF (T a @151 27

Answer: C) A (15T X (& FEE A= e o

Explanation: In Type 1 diabetes, the insulin producing cells in the pancreas are destroyed by
the immune system. No amount of sugar in ones diet — or anything in the lifestyle — has caused
or can cause someone to get Type 1 diabetes. Source: diabetes.org.uk

32. Question: MNFMOF (FT¥ T3 @ NG (I 37 =M NI TA?

A) Fat

B) ST/
C)3v

D) 3fe=me

Answer: D) 3f@*1e (Rainfall)
Explanation: The principal Source of fresh water comes from evaporation. Once that

evaporated water returns to earth as rain, snow or fog it ultimately flows into streams, rivers,
lakes and seas where it can be evaporated (distilled) again.

33. Question: FIIART FAA (FAG?

A) T5eF ST
B) ST



C) (@
D) =T *fe

Answer: B) 31

Explanation: Although nuclear energy itself is a renewable energy Source, the material used in
nuclear power plants is not. Source: nationalgeographic.org

34. Question: &NF TAFNEe] [FAITT FEF (FADB?

A) Ffast = @St

B) MNFfoF ST =TT

C) MGre IREE SE&@ J1T
D) *ifel (&

Answer: A) a3 ST JZTST

Explanation: S gemeel faZae =iy (76 3T FRFA a1 A1 Source: fao.org

35. Question: fEx @@oF Rs AfFFReT FIEE @H?

A) BrIT
B) ¥4
C) T
D) =1

Answer: B) &9

Explanation: The electrical conductivity of a metal (or its reciprocal, electrical resistivity) is
determined by the ease of movement of electrons past the atoms under the influence of an
electric field. This movement is particularly easy in copper, silver,
gold,iron.Rubber,plastic,wood,glass provides electrical insulation.Silver is more conductive than
gold,copper,iron etc

36. Question: (F SIEF N7 ANARS (FNETF T5F A2

A) TG
B) (Y
C) 76a
D) (2t



Answer: B) (=T

Explanation: Lathyrism or neurolathyrism is a neurological disease of humans and domestic
animals, caused by eating certain legumes like kesari dal. Source: timesofindia.indiatimes.com
37. Question: FHIMR A& TR T TN~

A) SEF

B) Ay sIRel

C) 9% MIxA

D) 5

Answer: B) A"y R

Explanation: I S{31¥ MAAME e 37 T 932 (MRA (oI 23T | T3 FIF- (A
Sz fFeee @16 33

38. Question: II% (e O FIRT I QI Mfel-

A) 97 FF
B) w3diFer &
C) ertemar (@f
D) =erg (I

Answer: C) ®Ts1ar (I3

Explanation: 8% Tfa(e 10T F14 I QI N Feg (I0T| STHAFH SSEHF I9% N d (6F
(AT SIS W FE 12 I9% AfA® S| Source: britannica.com

39. Question: SNEF INCIFH® (F AT 7970 27?2

A) T2

B) MH@IEF

C) RO TFIEF

D) Tefsofad

Answer: D) TS5

Explanation: Lead-acid battery has long been the most widely used rechargeable portable
power Source.The electrolyte, composed of sulfuric acid, participates in the electrode reactions
where lead sulfate is formed and carries current in moving ions.It is used in car battery. Source:



britannica.com

40. Question: Who is known as the 'Lady of the Lamp'?

A) Sorojini Naidu

B) Hellen Killer

C) Madame Teresa

D) Florence Nightingale

Answer: D) Florence Nightingale

Explanation: Florence Nightingale was put in charge of nursing British and allied soldiers in
Turkey during the Crimean War. She spent many hours in the wards, and her night rounds
giving personal care to the wounded established her image as the “Lady with the Lamp.”
Source: britannica.com

41. Question: For which of the following disciplines Nobel Prize is awarded ?
A) Physics and Chemistry

B) Physiology or Medicine

C) Literature, Peace and Economics

D) All of the above

Answer: D) All of the above

Explanation: Nobel Prize is awarded in the following disciplines:Physics, Chemistry,Physiology
or Medicine,Literature, Peace and Economics. Source: nobelprize.org

42. Question: Lunar eclipse occurs on-

A) A new moon day

B) A moonless day

C) A half moon day

D) A full moon day

Answer: D) A full moon day

Explanation: Solar eclipses occur at new moon, and lunar eclipses occur at full moon. Source:
britannica.com



43. Question: World ' No-Tobacco Day' is observed on-

A) May 25
B) May 28
C) May 30
D) May 31

Answer: D) May 31

Explanation: World No Tobacco Day is observed around the world every year on 31 May.
Source: who.int

44. Question: Which of the following ecosystems covers the largest area of the earth's
surface ?

A) Desert Ecosystem

B) Mountain Ecosystem

C) Freshwater Ecosystem

D) Marine Ecosystem

Answer: D) Marine Ecosystem

Explanation: Marine ecosystems are the largest of Earth's aquatic ecosystems that covers the
largest area of the earth's surface. Source: britannica.com

45. Question: In Cricket game the length of pitch between the two wickets is-

A) 14 yards

B) 23 yards

C) 21 yards

D) 22 yards

Answer: D) 22 yards

Explanation: The pitch is 22 yards (20.12 metres) by 10 feet (3.04 metres) wide. Source:
britannica.com

46. Question: IMF (International Monetary Fund) is the result of-

A) Hawana Conference
B) Geneva Conference



C) Rome Conference
D) Brettonwood Conference

Answer: D) Brettonwood Conference

Explanation: The International Monetary Fund is the result of Brettonwood Conference which is
a meeting at Bretton Woods, New Hampshire (July 1-22, 1944), during World War |l to make
financial arrangements for the postwar world after the expected defeat of Germany and Japan.
Source: britannica.com

47. Question: Dengue fever is spread by-

A) Rats and squirrels

B) Common House flies
C) Anopheles mosquito

D) Aedes aegypti mosquito

Answer: D) Aedes aegypti mosquito

Explanation: Aedes aegypti, the yellow fever mosquito, is a mosquito that can spread dengue
fever.

48. Question: The International Court of Justice is located in-

A) New York
B) London
C) Geneva
D) Hague

Answer: D) Hague

Explanation: The International Court of Justice is the main judicial organ or branch of the
United Nations. In short, the International Court of Justice is ICJ; sometimes people call it the
World Court. It was established in 1945, ICJ has its headquarters at The Hague, Netherlands.

49. Question: V169 is equal to-

A) 11
B) 17
C) 15
D) 13



Answer: A) 11

Explanation: V169 = V132 =13

50. Question: Badminton is the national sport of-

A) Malaysia

B) Scotland

C) China

D) Nepal =3 Fifes $a7 2@®

Answer: A) Malaysia

Explanation: 36 1S Fa1 7@®

51. Question: EURO is the currency of-

A) Asia

B) Africa
C) America
D) Europe

Answer: D) Europe (EURO is the currency of Europe)

Explanation: After a decade of preparations, the euro was launched on 1 January 1999: for the
first three years it was an ‘invisible’ currency, only used for accounting purposes and electronic

payments. Coins and banknotes were launched on 1 January 2002, and in 12 EU countries the
biggest cash changeover in history took place

52. Question: Photosynthesis takes place in-
A) Roots of the plants

B) Stems of the plants

C) All parts of the plants

D) Green parts of the plants

Answer: D) Green parts of the plants

Explanation: Photosynthesis takes place inside plant cells in small things called chloroplasts.
Chloroplasts (mostly found in the mesophyll layer) contain a green substance called chlorophyll.



Photosynthesis takes place in green parts of the plants

53. Question: The term PC means-

A) Private Computer

B) Prime Computer

C) Professional Computer
D) Personal Computer

Answer: D) Personal Computer

Explanation: PC = Personal Computer

54. Question: Fill in the blank of the following sentence with the right form of verb. If |
a king!

A) am

B) was

C) shall be

D) were

Answer: D) were

Explanation: If J& conditional sentence 4 subject 49 71 be(am,is,are)verb ST CIHE were

1729 |

55. Question: Tiger : Zoology : : Mars :

A) Astrology

B) Cryptology

C) Telescope

D) Astronomy

Answer: D) Astronomy

Explanation: Tiger 3G =1, Zoology =1 =1f$® fwi;Mars a3f6 9z, Astronomy 5% 7%a 3%

study

56. Question: Maiden speech means-



A) Final speech

B) Middle speech

C) Maid servant's speech
D) First speech

Answer: D) First speech

Explanation: The first formal speech made by a British Member of Parliament in the House of
Commons or by a member of the House of Lords. Source: dictionary.cambridge.org

57. Question: N.B. stands for-

A) Note before

B) No bar

C) Non bearing

D) Nota bene

Answer: D) Nota bene

Explanation: N.B.-Nota bene is a Latin phrase,used to call attention to something important.

58. Question: What is the masculine gender of "mare"?

A) Mermaid
B) Bear

C) Dog

D) Stallion

Answer: D) Stallion

Explanation: Mare-the female of a horse or other equine animal. Stallion-an uncastrated adult
male horse. So the masculine gender of mare is stallion.

59. Question: Botany is to plants as Zoology is to-

A) Flowers

B) Rivers

C) Mountains

D) Animals

Answer: D) Animals



Explanation: Botany is the study of plants, zoology is of animals.

60. Question: S>3 NEF F& SINY JFIFSTE F1HT IRTWCTT I TIFIH oSS 77?2

A) 9 6 559 s

B) b 16 5295 32

C) s fETTET 559 :
D) so affe $59 3

Answer: C) b4 fSOF v9b 33

Explanation: So af3 359y TS (ETa ATST FITF 3 AASNAFSIF ST FAT T 933 59
AfST SETF 2T AR ADNAFONE T TSI (FF 3 MG FEF |

61. Question: 5T CT JOFF TV F© SN FTHIRT FEA?

A) S TTE SDSD 3

B) 35 T 4285 %2

C) 8 @IISTG $289 ¥

D) 9 316 S0 3

Answer: B) 35 I 5285 ¥

Explanation: 535 CTX ¥F T2 9 M6 S0 B TgsIRe 933 S¢ IMEFH $»9¢ T MRS
T FE |

62. Question: 2T ACNMH® YRAF 57 (FT (ST SAFS?

A) (T

B) STe% T

S EIERICERD

D) (et

Answer: A) CIRIEIE]

Explanation: (Hald TISA SAR RHEIAT 1@ 24t F017 M7 Y219 5E@F AT |

63. Question: IR GAIfSTET IA] BF T IO A@?



A) 5589 32
B) S3¢b %2
C) S %2
D) 5> b8 s

Answer: C) 52b¢ ¥3

Explanation: FZT MeF@Ea IR (Gffe (RAf6fe) FRHFT 8F FE 548 NE|

64. Question: FRATT FTSIT TTH T FHHA FEF Tfo® T2

A) 9 fS0TFT 559 4
B) 9 afFe v9w 3

C) s fOOTEa spR s
D) 4 M6 S>30 32

Answer: B) 9 af8ieT Spqe 32

Explanation: 4 & >9© fAGIE IRATGT SSIT KIGH I3 16 Afde 2F| (7 T 6E IR
SIS AT 39 A (T TINS FE | GFe FReAGIT

65. Question: ST IETT ITSF F9T W F© NEH?

A) 59¢9 ¥
B) S990 %2
C) Sbaa s
D) S939 s

Answer: B) 5990 32

Explanation: fo=513 IE19 3990 NTET FASIMTT TS F9F 256 2SN (PN TIP3 IRAF
B MR (T4 I ShmIF 8 ToF SIFTRMEH) J& T=fre A% 31 (& |

66. Question: FRIATTT SIIF (HIFET TNIIF I (FTA 23?2

INERCRES

B) A}, %, 9%
C) SRR%T

D) frrams

Answer: D) fSgams



Explanation: IR SHIF (BT TN THIIFI 523 fgaeF | Source: worldbank.org

67. Question: IRA@I 8 IRAT NN@IG! Fal (FIAG?

A) (STTTST
B) f&faaTs

C) efger
D) A%
Answer: D) 9%

Explanation: 9% a4t (Naf River) FHIOE (Se1d & w97 (@1 i@ 231fRe sefye Aifs sy
T Tl TAAANES ATF (VF FHIST (GeI@ T8 FE@| Source: Banglapedia

68. Question: IRATWCT CTRITE FRFH (FT T3 37T FE?

A) I FFeT

B) SN ST

C) IR@T RSP

D) & Sfafos aswa Fire

Answer: D) Sf&Sfafos aswa Fe (Security Exchange Commission)

Explanation: SiFSRGS I a56a FHre (A52) 91X NI ST e IO [T
A6 TFFIE RBF| TSz IRAITGAT

69. Question: ST AT INA (F?

A) THIT (AETRTS
B) srfdifefaw
C)3fa

D) &I«

Answer: C) 3 (Poet)

Explanation: SN ST TS 2NN IRTAGCTT ARSI fRTRA@ TE TSN | IRACTT
AR & (Nfe1 (TR BT JoT AW AT FIFS (72

70. Question: I @ TCFMG 3 (FFINEF IRG0F NeoRT aN NEF e MEm?



A) UNDP

B) UNCTAD
C) UNICEF
D) UNESCO

Answer: D) UNESCO (RS@FT)

Explanation: The idea to celebrate International Mother Language Day was the initiative of
Bangladesh. It was approved at the 1999 UNESCO. Source: unesco.org

71. Question: "ORFF TIF (FNT I3 F50?

A) fSe

B) IR
C) (ozq9
D) &Y

Answer: D) $3@ET

Explanation: Tahrir Square is a major public town square in downtown Cairo, Egypt. Source:
britannica.com

72. Question: (FEMG D-v §& (W FT?

A) TSR
B) 9%
C) @
D) 81F%

Answer: D) ©199
Explanation: The group of D8 countries which include eight Islamic countries of Iran, Indonesia,

Bangladesh, Pakistan, Turkey, Malaysia, Egypt and Nigeria has been formed in 1997 with the
objective to develop economic relations among its member-states. Source: developing8.org

73. Question: IMHAEH JGIANHAT-9F T0F 73T (FINT AIFo?

A) fo@ar
B) fAG3Ts
C) mfas



D) 5w
Answer: A) f&@4T (Vienna)

Explanation: Amnesty International Headquarter: London, United Kingdom. Source: Amnesty
International

74. Question: "SIFT I’ FeIC© F JAT?

A) IFIT AT FTHOTS
B) SNET ¥ TN

C) 3199 A15eq

D) &S RS (W07 sTersvisaer

Answer: B) SIS (¥ IHIPT

Explanation: Arab Spring, wave of pro-democracy protests and uprisings that took place in the
Middle East and North Africa beginning in 2010 and 2011. Source: britannica.com

75. Question: AT AT FIGEF (A6 (T7?

A) S
B) STT&IsT
C) 3@e

D) &nfosa

Answer: B) SeT&rT

Explanation: Vatican City is the smallest country in the world. Encircled by a 2-mile border with
Italy. Source: britannica.com

76. Question: T iR A7 (FAG?

A) STTTaTT

B) ©19w©

C) Qb

D) (o1ret

Answer: B) ©19©

Explanation: aff37a R A8 (@1 (5> L) ST SRIFHT) | 2004 S (1 L3 a0omF q1Z (TR



A1 27| aft RRenery SrifAe afe wfier A (77 T3 Y o Bl a3 widper, 57 8 %60 sraed
TG TAR| 97 TOPAT b ©IsT SefsTe1R 2] S STt |

77. Question: 'TIFIN (F (CTF AR TS?

A) &

B) f¥faar

C) (FIAaS

D) SizsTifer31e

Answer: C) (I919« (Lebanon)

Explanation: FTX&&sT S%sTaSEa 92 o1 Source: A3y

78. Question: (@ (O (FIF (WCTF TOETA?

A) Sicferar
B) (Fe1f&m™
C) fe@ear
D) (G

Answer: D) (G

Explanation: Denmark is a Nordic country. The Capital and largest city of Denmark is
Copenhagen. Source: britannica.com

79. Question: TR (T (MCTF TS JA1H?

A) g
B) 3q1&
C) 3
D) ¥R S

Answer: A) g
Explanation: Siam(*TI5(w™), as Thailand was officially called until 1939, was never brought

under European colonial domination. Independent Siam was ruled by an absolute monarchy
until a revolution there in 1932. Source: Encyclopaedia Britannica

80. Question: "5 F© W ANIFS 27?2



A) Sboo
B) a9
C) vd03
D) 5909

Answer: B) b9

Explanation: (F1(eTd @ ARG (A $»09 N 617w IAIFS 27| TIHIRAT ST 3 Tzey
&G ©. chfsia Crag

81. Question: IR NRSTH TIF-THH ST Tl AT AMROIF 2NSTE &6 J(oT BT FAT
AR, IR ARSI N6 JsTI

A) 8¢o-bto

B) Lo-vto
C) bto-N3Go
D) bo-5R00

Answer: C) Yo-b3¢o

Explanation: . 3} TRIqEY'T e TR NR0STE AT0IN 6T STHITAT Lo 6 (@ dro0
74| TYHARAT ST 3 Txey fFRI- . (Nfva CraF

82. Question: FHEF FF 7 (F?

A) ST 1Y

B) 3G 3tuny

C) (snfa= wrsy

D) SiFe=at

Answer: B) 3G 53lurs

Explanation: 3G 551, ST, (SR w15, S81aw1s, A6 ofafer a7 ssnysra 31 T IRy S
8 Sifzey s ©. Chfira Crae|

83. Question: IR MIfR(@T TAFHFH 5T I(©-

A) $553-53¢0 X
B) L3¢o-58¢o T
C) S3Go-S0to TG



D) b305-59¢o T

Answer: B) $3¢o-58¢o g

Explanation: IR NRSTE 2G0T S0 (VF Swto THF T I5T RN A6 1 T IR o
8 W12y e - ©. (Nfva CrF

84. Question: &1 ST FEIST INTF (F fRT?

A) FRTER T,

B) 76 ST

C) FJya Rmyers1a

D) SRfe (FfF

Answer: B) 76 S@ETSIfer

Explanation: Sob ST (31 0T ST (S (W1 SRTIR FETES 7] [T Tisia foige
2| TS IRAT BT @ WfRwy F®HI- ©. (Nf¥a Cr3g

85. Question: IRAT VROV T ROTE FIF A 57 T2

A) MR A7 73

B) SIS NGRS J1¥

C) 9o [AwIrsra

D) A6 sEIEERT A6 Fifod Fa1 T@®

Answer: D) If&964 GEIEETT

Explanation: =6 1o F4T 2@®

86. Question: 3@ AT TG T6a1 7Y (FTAG?

A) FSTETTRHT 1Y
B) =AW I FITS
C) A

D) (For afafe

Answer: A) fSETeNT F15

Explanation: fSTTaST F175 (S yo), (TR T FIRT (SBbS), SEBET (b bR) 2T R N
T8'F A6® FIF5 | ([OTT T¥FMS (S89) FITCH [ATIMISIES Ho[w %1 TIN2 TR ST 8 TRy




f&ves™ - ©. (YA Crg

87. Question: I FTHIT AGHO FIF (FTA?

A) MR A7 73

B) e fra
C) A=A F1FF
D) ST AT

Answer: C) 4R 3157
Explanation: Ik GNfTTS J5% F6Ao] RETER IR 35 SHT6T | IR ST 7249 [{fswm

oS T6ATH Sefs fofel ‘TG ARAHIT AT AHC© el | FAGFTHIAT (VB E8) BIF T4 8 (T
Ao | A0© RPTE IfTAR JATH FHeT NI 19T 60 9T &1 77| Sz IRAHGT

88. Question: ' Tt AGHoT FFa3 52

A) (B-ST51 AT
B) ST ST

C) SIS AT
D) FFImd TSI

Answer: B) O3 S«

Explanation: e wifel(s v vo) Glaasy g Fea NI e 51w S7F 68 AoT61d AT
Ffbe ABF | TSTARAT SAT 8 NIf2es FFSHI- T. CNfva Crg

89. Question: "S(F IRE" TFAATHID FIF (FT?

A) TS

B) 181 fla szow

C) FT& (ST @I

D) I S

Answer: B) FS Fie T

Explanation: S@E-IRE(5»5Y) SATESRAE (13T IIHAT Z3F AN | a5 I A
ORI 6| SIT:ARAT ©AT 8 Wfzey f&ea- ©. Gfita Crag

90. Question: 7 YHO] ANF FIFH 5% (FTAMG?



A) =TS I
B) FTTad
C) o= ST
D) i¥ed

Answer: A) *T9e 57

Explanation: 13% 3[EedT ST TFeR(5»@}) G2 TF [Foe FEsTe a3% F | T30 TR
TFGF | ST AR AT 3 Ry fFeasT- ©. (Nfeva 3

91. Question: "SIRIEA" AT TwF (& f=E?

A) BT Yo dT St
B) *mEe™ N

C) 9o f[AwsIrsra
D) TFIFNH 78

Answer: B) "TaisTw g

Explanation: S8 FS5IE SfeST FAT I "SRE@IEA AaFT | T 20 IFIFAE 761 SIHARAT
AT 8 Wiy & ©. (Nfeta CrF

92. Question: B ATV OGF A6 (FIAG?

A) 8 F4 At

B) "I SIS N3 IF
C) &foy 8 fafIy (Fefer

D) 99

Answer: A) 3T F9 At

Explanation: - JAF (G 378 A6 (1F7) FIF| - FEPT THIWH AN (S AIFFTAT JAF
fofer af So o NI TooT FEF 9% ©AF2 TBTAIw F1F] (6 Sfedte 2@®|

93. Question: 'SIT IFF" FTF RANTHN?

A) i form
B) SiTena wset
C) 37X (GIaT
D) FIuNN FA



Answer: D) WW

Explanation: SI[W:% 137" FI-GANT RAAT| BTF FH S HEF 92 (3, FAITO (STCTH A
A AFANE | SSTIRAT SRT 3 Tfzws G- . (Nfa o134

94. Question: FF FIHG THFT THAGTAT AbG?

A) T

SRIGIEIRE
C) Hfefstersiy
D) STt

Answer: B) I St

Explanation: FIAN(S>29)TFS Tl AT Ib© ST FIIE| TR ST 8 NFey @I T.
oNfera crg

95. Question: *Qf¥ AE I (% T&TOr F1F FfI©1?

A) T8FS SHATA

B) fS1=11g S si%e
C) S ST

D) *TTs{a JTRAT

Answer: D) *TS[d 1R

Explanation: *TF5F IS AET FEF0 FIS] 2T (SINE TSIF 5515 (R T1Hiol, T&Ter g
3oNfw| SR ST 8 WifXey @™ - ©. cNfra Crg

96. Question: '(WITT FEAL FII?

A) I 10T
B) OTATTEE IETSIATR

C) Tati9 7
D) 2 AZE

Answer: B) OTSPHF JCAITETT

Explanation: SIa8Ia@ (7137 df¥e Fa@ FIEAEE Afeq STRIeTa M55 @ IRaT M2y @I+
AR AFSIT| SR T T SHAHG ToaT FESF 9T (F T=F3 SANHG THFNE TFe 27|




e F@ IRAGCTT TOFO N TS [IGT T | 1T (FelT SHHT AT SIS (S»9) |

97. Question: YGIHSGF SIN (FIAG?

A) Zeweia =T
B) MG g ==k
C) &R I&

D) T 0t (SNAG

Answer: C) ST I8

Explanation: e Al (S (5 Y ) T (RICTE ST 1 (N SdDY T 952 FI J[SJwd
e faif3fe 27 | SSTe R ©FT 3 MRSy Seantl- . (e Crd; AR e

98. Question: "N SREF [(@ FRSIET IFCT (HFIN D & Gfeite 1" 9 ST F24+ s[FFH
*?

A) SR TS (HIYAT
B) ST (STt

C) STer% J=

D) AT e

Answer: B) 95w (ﬁ@

Explanation: ‘SIN SREF T(& T IF0T (HFAME, I fF gfite 7fa -sn=oq TofZer 2=
ST STRHTE (BT - afba o2 S[FFF Ry SR A% 933 TSN JAFTF AT W |

99. Question: > ST MNNT St FoF (& TJ?

A) 1T S S%d
B) 7AW S GAR
C) 7Tw TR0 3%

D) 3% et SRS

Answer: B) T3% STFIOE®

Explanation: mﬁ@lﬁl ARATT SR HEF Y WW,WWWWWﬁEﬁWIW
TSEATST TESTE JEAT- AP AP, 6 (F0, SHIFT 2eTv |

100. Question: ) =7 : & : : J2IS : ?



A) STE=
B) @y
C) feyesysf
D) 572

Answer: B) 9%

Explanation: =19 ST MMqabIaT; ST Ssd a1 SiFe| o213, SveT aF(6 S1erw SHwrer |



